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Question ID : 630680177725
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Chosen Option: D
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Chosen Option : A
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Chosen Option: C
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Status : Answered
Chosen Option: D
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Question ID : 630680177728
Status : Answered
Chosen Option : D
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Chosen Option : A
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Question ID : 630680177734
Status : Answered
Chosen Option : A
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Chosen Option : A
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Chosen Option: B
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Status : Answered
Chosen Option: C
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Status : Answered
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Status : Answered
Chosen Option: C
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Status : Answered
Chosen Option: D




Q.21

Ans

Comprehension:

fAfafaa meisr &t ufed ik &g g usi & IR S|

TS e AT o SR G 0 G A Feereht 3@  Stuenr 3 R g, gat aemrr &Y SR o et -
‘TG Sifarfe | iig I8 YRRRmaE Gt el TS - ‘B 7 2aTH Ggr | Uehtar ofR sierhR i sifafi
TeAtE! T8, Terct €t @it ag Y fafdy o e &1 e et Tena € 291w R ues g ggd A Ags A
At & <1, 32 I a1l Teopmen Y RIATRY SiR dfisll @ AeheaTet S a1 TN @I 3ieehR i Sfiar S
GerdT & | e ST ST Teha 81 99 St H gelt e=elt i S1ifRie w0 # streitfend foRa ST wehdr 81
SRR T [ F Hehed i STid g3 | 99 I 7T 7 39 2 & a2t woifal Y 8, W I s g

o Y T &2 a8 I Y reRTel hTaR U T Iseaet thet AT ISt are e STt & 39 At
& S1fOa 3R Y, ST A Y IR W21 &l g Tehed ohT T AT UT- SierhR J ST 8, faes-
e T JUET Thech, Tehel T TTHAT ch ISeR Fo ol o AR TR s 7 ot §1 T ahgdd A ST
& SIUKhR AGIEd &, Y S[gI o Hehed Hg SMEl AT §1 HiwdT §, I8 R Hehed Lf<h T UR1H 872
T AT i AT &2 SaTet! ST &g ST 8, SR I [T ol Hehed ol For gurdf &1
TR & 7 Heeht| SiUehR & dehs] U &1 IUY ST € 7S ol HsTed &1 SIS &l Yehed &
HETTdT &1 I ot Treget e ht foha et wedft Y o s §
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Question ID : 630680177747
Status : Answered
Chosen Option : A

Comprehension:

ffafa meisr &t ufed ofik fed g wsii & IR S|

TS e AT h SR § I &7 I Fererht 3@ # Staehr 3 ek g, gt Temiar &l $ik o et -
‘TGN S| U T8 YehRRTIE G el TS — ‘Bid 7 23TH el Ueh1ar iR SierhR i siafi
TG 3BT, TeAelt o1 Terit| g ot Fafd a1 e &1 Rl <1t Teha ¢ 59 1R 2 Uen 1o g A mgsa A
g & 13, ¥2 Y e, Tepren hl FRIATRY SfR il O FMeheraTet S o1 TANT @11 SR o SitdT S
GerdT & | FaT ST ST Tk &1 T SfeehR H el e=elt l S1if i w0 & streitfend fonar ST @ehar 81
SRR T SIS h Hered i STid g3 | 99 I 7T 7 39 & 7 It woifal Y 8, W I SfeH wary

o Y T &2 a8 IS Y EreihTel hTaR U Rt Isedet thet AT IETaTeRt aTe et STl & 39 At
& S1fOa 3R Y, ST A Y IR TTefT &l g Tehed ohT ®T AT UT- SierhR F ST 8, faes-
st I I0eTT Fh, Tehel T TTHAT Heh I3eR F A1 @ et TR gArg &3 ot &1 T g A ST
& SIUThR AGTEd &, SUY S[gi ol Hehed Hg SMEsl AT § 1 FiEdT §, I8 T Hched L1f<h ol UR1H 872
AT TSI <hl SIGHTAT 82 EaTel! 3TTehs Thg STTe 8, SfeiehR T S[ET ol Hehed &t Tl amef g1
TERITIeRT | A Rl | STUhR o Yehel URd & | ITY SIET &1 AT &l ASId & | ST ol Tehed gt
HERadT &1 I I T& e <hl fohaT ot destt &t gt s 8 |
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Question ID : 630680177748
Status : Answered
Chosen Option : A
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Ans

Comprehension:
fAfafaa meisr &t ufed ik e g usi & IR S|

T e § AT o SR G 0 G I Fepereht 3@ # Staenr & R g, gt aemrer Y SR o et -
‘TG Sifare | 1ig a8 YRRRmIE Gt el TS - ‘B 7 238 gr | Uehtar ofR SierhR i sirafi
TeAte! T8, Tercht €t @it ag Y fafdy @ e &1 e e Tenar € 591 e ues g gd A Ags A
B8 & 1, T2 I 1l Teopmen Y RIATRY SiR &l @ ReheaTet S T TN T 3ieehR i Sfiar S
GerdT & | Fam ST ST Ok 81 99 St H gelt et l S1ifre w0 # streiifend fona ST @ehdr 1
SRR T [ F Tehed i STid g3 | 99 I 7T 7 39 2 7 a2t woifay Y 8, W I Sfew g

o &Y T &2 a8 I Y refRTel hTaR U T Iseaet thet AT IETaTet are e STt & 39 At
& S1fAa 3R Y, ST A Y IR W21 &l g Tehed T T AT UT- SierhR J ST 8, faes-
et i I0eTT Xk, Tehe! T TTHAT eh I3ER $ A1 T et TR garg &3 &t &1 &t g A S
& IR AGTEd &, SUY S[g &l Hehed Hg SMEf AT §1 i<l §, I8 T Hehed Lf<h &l UR1H 872
T AT i STEATT &2 SaTet! ST &g ST 8, SR T ST ol Hehed ol For gt &1
TR & 7 Heeht| SiUehR & dens U &1 IUY ST € HST o HSTe &1 SIS &l Yehed &
HETEAT &1 I Rl TeaeT e <l foham ot At I et e &
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Question ID : 630680177749
Status : Answered
Chosen Option : A

Comprehension:

ffafaa meisr &t ufesd ofik fed g wsi & IR S|

TS e I AT h SR § 0 &7 I Feperht @ # StuepR 3 ke g, gt Temiar i $ik o el -
‘TGN ST | U T YehRRTIE Gt el TS — ‘Bl 7 2aTH el Ueh1ar iR SierhR i siafmi
TeAcia! Tal, Telcl of T | T af fafdy T e &1 SiF el Tend & 591 Ifche e Ues g gl A Agsa =
gl & 13, %2 Y arclt, Tepren dhl FRIATRY SfiR il O FeheraTel S o1 TA1T @11 ST h SitdT ST
HerdT & | Fam ST ST ek &1 T SieehR H gell e=elt ol S1ifRies w0 # streitfend fonar ST @ehdr 81
SRR T [ h Hened i STid g3 | a9 & 7T 7 39 2 & It waifal Y 8, R g SfeH g

o Y fiT &2 a8 IS Y refhTel hTaR U Rt Isuact thet AT ISt aTe e STl & 39 At
& S1fAa 3R Y, ST A Y IR 2T ol g Tehed ohT *T AT UT- SierhR F ST 8, faes-
T T IUETT ech, Tehe! T TTHAT ehich 3R Fo &A1 O AT TR GATE 37 &1 g1 AR Shgd A STt
& SIUThR AGTETd &, SUY S[g ol Hehed Hg el AT ¢ i<l §, I8 T Hehed 21f<h &l UR1H 872
T AT i STEATT &2 SaTet! ST &g ST 8, SRR I S[gTH T Hehed ol Tor gurd &1
TTERIIeRT | A eah! | STUR o Yehel URd & | ITY SIETT &1 AT &l IS & | ST 3l Tehed gt
HERadT &1 I I T& e <l fohaT ot destt & goTT s 8 |
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Question ID : 630680177750
Status : Answered
Chosen Option: B




Comprehension:
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TS e I AT o SR G 0 G I Fepereht 8 # Stuenr 3 R g, gt aemrr Y SR o et -
‘TGN SifaTe | tig I8 YRRmaE Gt el TS - ‘g 7 23T gr |’ Uehtar ofR sierhR i sifafi
TeAte! 78, Terct €t @it 1 ag Y fafdy @ e &1 e e Tena € 59 1fhe R ues g ggd A Ags A
At & <1, 32 I 1cht, Teopmen Y RIATRY SiR dfisli @ ReheaTet S a1 TN @M1 37 i Sfiar S
GerdT & | T ST ST Tk 81 99 St H gelt et l S1ifie T # streitfend foRar ST @ehdr 81
SRR T [ F Tehed i STid g3 | 99 I 7T 7 39 2 & a3t woifay Y 8, W I e g

o &Y T &2 a8 I Y refRTel TR U Rt Iseaet thet AT ISt aTe e STt & 39 At
& S1fOa 3R Y, ST A Y IR 2T &l g Tehed T T AT UT- SierhR J ST 8, faes-
et i I0eTT Rk, Hehel T TTHAT eh I3eR $ A1 T et TR gArg &3 ot &1 T g A ST
& iR AGTEd &, Y S[gi o Hehed Hg el AT ¢ i<l §, I8 T Hehed Lf<h T UR1H 872
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Question ID : 630680177746
Status : Answered
Chosen Option: D

Section : Englishitanguage

Q.1 Select the most appropriate homonyms to fill in the blanks.
She away the old shoes as they were unusable. Of course, it was true that they had
—_alot.

Ans X A cast; cast

" B. cast; cost
5 C. cost; cast
#< D. cost; cost

Question ID : 630680177751
Status : Not Answered
Chosen Option : --

Q.2 Select the most appropriate option to fill in the blanks.
Many people believe they write in all caps because block writing enables them to write
faster. The truth, however, presents a different : it says you can write much
faster in cursive.

Ans  # A scientific; picture
#< B. controlled; sketch
5 C. methodical; illustration

25 D. technical; delineation

Question ID : 630680177759
Status : Not Answered
Chosen Option : --




Q.3 Select the most appropriate option that can substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.
Ajay decided not to move to the other job because a bird in the bush is better than two in the

hand.
Ans X A.some birds in the hand look better than they did in the bush

«" B. abird in hand is better than two in the bush
25 C. No substitution required

25 D. leave birds in the bush instead of keeping them in the hand

Question ID : 630680177753
Status : Not Answered
Chosen Option : --

Q.4 Select the most appropriate option to fill in the blanks.
Actually, the alphabet may be the biggest problem we have with English. When | ask
students what of English they would change if they could, they point to our
illogical spelling system.

Ans o A.aspect;invariably
< B. standpoint; normally
25 C. trait; habitually

25 D. outlook; exceptionally

Question ID : 630680177761
Status : Not Answered
Chosen Option : --

Q.5 Select the most appropriate option to fill in the blanks.
A hare was very popular with the other beasts who all claimed to be her friends. But one day
she heard the hounds and hoped to escape them with the ____ of her many friends.

Ans X A. advancing; benefit

< B. oncoming; comfort
< C. pending; relief
«" D. approaching; help

Question ID : 630680177758
Status : Not Answered
Chosen Option : --

Q.6 Select the most appropriate option that can substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.
The company has been through thick and thin before reaching these heights.

Ans X A. had both many employees and fewer staff
#< B. had large premises and even small ones
«# C. No substitution required

#< D. experienced all sorts of successes

Question ID : 630680177754
Status : Not Answered
Chosen Option : --




Q.7 Select the most appropriate option to fill in the blanks.
Siddharth struggled to read and the passage his teacher had asked him to. However
hard he tried, he found the words too to understand.

Ans  # A comprehend; complicated
< B. confound; diffused
< C. observe; conceptual

£ D. discover; conjectural

Question ID : 630680177760
Status : Not Answered
Chosen Option : --

Q.8 Select the most appropriate option that can substitute the underlined segment in the given
sentence.
However silly it may seem, Vivek is better known by his characterising occurring in place of
his name, Mottu.

Ans X A truism

7% B. epigram
< C.axiom
" D. epithet

Question ID : 630680177764
Status : Not Answered
Chosen Option : --

Q.9 Select the most appropriate option to fill in the blank. In case no word is needed, select 'No
word required'.
Vinod’s car is __ most expensive one in our neighbourhood.

Ans X A an
/5 B.a

« C.the
25 D. No word required

Question ID : 630680177768
Status : Not Answered
Chosen Option : --

Q.10 Select the most appropriate synonym of the given word.
Assent

Ans X A.lIncrease
#< B. Discord
" C. Agreement
#5 D. Clash

Question ID : 630680177752
Status : Not Answered
Chosen Option : --




Q.11 Parts of the following sentence have been given as options. Select the option that contains
a spelling error. If there is no error, select 'No error'.
The notice outside the office said, “Noadmittence without permission.”

Ans X A.No error
+" B. Noadmittence
5 C. without permission

#5 D. The notice outside the office said

Question ID : 630680177755
Status : Not Answered
Chosen Option : --

Q.12 Parts of the following sentence have been given as options. Select the option that contains

a grammatical error. If there is no error, select 'No error'.
Aditya will found it difficult to manage in Boston if he doesn’'t have enough woollens.

Ans & A Aditya will found it difficult
#< B.if he doesn't have enough woollens
£ C.to manage in Boston

25 D. No error

Question ID : 630680177770
Status : Not Answered
Chosen Option : --

Q.13 Select the most appropriate option that can substitute the underlined segment in the given

sentence.
The vain, boasting fellow always gathers a group around himself.

Ans  #* A braggart
#< B. broadcaster

#< C. announcer

25 D. trumpeter

Question ID : 630680177763
Status : Not Answered
Chosen Option : --

Q.14 Parts of the following sentence have been given as options. Select the option that contains

a spelling error. If there is no error, select 'No error'.
The surveillance department raided the house and offices of the firm during the

reconnaissance.
Ans  # A No error

#5< B. The surveillance department raided
25 C. during the reconnaissance

< D. the house and offices of the firm

Question ID : 630680177756
Status : Not Answered
Chosen Option : --




Q.15 Select the most appropriate option to fill in the blank. In case no word is needed, select 'No
word required'.
How can India become ____ superpower of the region?

Ans X A one

X B.a
" C.the

#< D. No word required

Question ID : 630680177767
Status : Not Answered
Chosen Option : --

Q.16 Parts of the following sentence have been given as options. Select the option that contains
a grammatical error. If there is no error, select 'No error'.
Tomorrow, please help me to disposed off unwanted papers that are piled up on my table.

Ans  # A Tomorrow, please help me to disposed off
25 B. No error
< C.on my table

#5< D. unwanted papers that are piled up

Question ID : 630680177769
Status : Not Answered
Chosen Option : --

Q.17 Select the most appropriate option to fill in the blank.
Have you seen __ mobile phone anywhere?

Ans X A.their
o B.my
25 C.its
25 D. mine

Question ID : 630680177765
Status : Not Answered
Chosen Option : --

Q.18 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.
A. For the world he became the voice of India’s spiritual heritage, and for India, especially
for Bengal, he became a great living institution.
B. In fact, his fame attained a luminous height, taking him across continents on lecture
tours and tours of friendship.
C. With his translations of some of his poems he became rapidly known in the West.
D. Tagore had early success as a writer in his native Bengal.

Ans X A.DACB
7< B.CDBA
«” C.DCBA
2< D.BDCA

Question ID : 630680177757
Status : Not Answered
Chosen Option : --




Q.19 Select the most appropriate option that can substitute the underlined segment in the given
sentence.
On my way to office, | always pass by the place where coins, medals and tokens are made.

Ans X A kiln

#< B. furnace
" C. mint
25 D. bank

Question ID : 630680177762
Status : Not Answered
Chosen Option : --

Q.20 Select the most appropriate option to fill in the blank.
Vibha looked ___ her son angrily when he put his finger in his nose.

Ans X A with
o B.at
X C.on
7< D.by

Question ID : 630680177766
Status : Not Answered
Chosen Option : --

Comprehension:
Read the given passage and answer the questions that follow.

Despite high education among women, the rate of women'’s employment is very low in India.
According to data compiled by the World Bank, the number of working women in India
dropped from 24% to 18% between 2010 and 2020. Similarly, the India Discrimination Report
2022 released by Oxfam India states that women in India, despite possessing the same
educational qualifications and work experience as men, will be discriminated against due to
societal and employers’ prejudices. Likewise, though India tops the world in producing female
graduates in STEM, it ranks 19th in employing them. These numbers remain true across other
fields as well. The wide gap between the number of women graduating every year and those
entering the workspace is an issue of paramount importance that needs to be addressed.
This article aims to critically analyse this challenge while looking at a possible way forward.
India’s present gender gap in terms of literacy is more than twice the 2016 global average and
even higher than that for lower-middle-income countries. According to the National Sample
Survey Office (NSSO) data, in 2017-18, a total of 186 million women in India cannot even write
a simple sentence in any language. This statistic is a call for attention, showcasing that India
is far from achieving the fourth Sustainable Development Goal (SDG)—"'inclusive and equitable
quality education’ and ‘lifelong learning opportunities for all'—by 2030.

SubQuestion No : 21

Q.21 Which statistical information is being referred to in the sentence ‘This statistic is a call for
attention, showcasing that India is far from achieving the fourth Sustainable Development
Goal (SDG)'?

Ans X A. Target set for women’s education by 2030
< B. The lifelong learning opportunities
#< C. The gender gap in education

«" D. The illiteracy of the women

Question ID : 630680177773
Status : Not Answered
Chosen Option : --




Q.22
Ans

Comprehension:
Read the given passage and answer the questions that follow.

Despite high education among women, the rate of women'’s employment is very low in India.
According to data compiled by the World Bank, the number of working women in India
dropped from 24% to 18% between 2010 and 2020. Similarly, the India Discrimination Report
2022 released by Oxfam India states that women in India, despite possessing the same
educational qualifications and work experience as men, will be discriminated against due to
societal and employers’ prejudices. Likewise, though India tops the world in producing female
graduates in STEM, it ranks 19th in employing them. These numbers remain true across other
fields as well. The wide gap between the number of women graduating every year and those
entering the workspace is an issue of paramount importance that needs to be addressed.
This article aims to critically analyse this challenge while looking at a possible way forward.
India’s present gender gap in terms of literacy is more than twice the 2016 global average and
even higher than that for lower-middle-income countries. According to the National Sample
Survey Office (NSSO) data, in 2017-18, a total of 186 million women in India cannot even write
a simple sentence in any language. This statistic is a call for attention, showcasing that India
is far from achieving the fourth Sustainable Development Goal (SDG)—"'inclusive and equitable
quality education’ and ‘lifelong learning opportunities for all'—by 2030.

SubQuestion No : 22
Which of the following is the most appropriate title for this passage?

25 A. Challenges in women's status in the home
25 B. Women'’s education: progress through the ages
4" C. Concerns about women'’s education and employment

< D. New roles of women in society

Question ID : 630680177772
Status : Not Answered
Chosen Option : --

Q.23
Ans

Comprehension:
Read the given passage and answer the questions that follow.

Despite high education among women, the rate of women’s employment is very low in India.
According to data compiled by the World Bank, the number of working women in India
dropped from 24% to 18% between 2010 and 2020. Similarly, the India Discrimination Report
2022 released by Oxfam India states that women in India, despite possessing the same
educational qualifications and work experience as men, will be discriminated against due to
societal and employers’ prejudices. Likewise, though India tops the world in producing female
graduates in STEM, it ranks 19th in employing them. These numbers remain true across other
fields as well. The wide gap between the number of women graduating every year and those
entering the workspace is an issue of paramount importance that needs to be addressed.
This article aims to critically analyse this challenge while looking at a possible way forward.
India’s present gender gap in terms of literacy is more than twice the 2016 global average and
even higher than that for lower-middle-income countries. According to the National Sample
Survey Office (NSSO) data, in 2017-18, a total of 186 million women in India cannot even write
a simple sentence in any language. This statistic is a call for attention, showcasing that India
is far from achieving the fourth Sustainable Development Goal (SDG)—"'inclusive and equitable
quality education’ and ‘lifelong learning opportunities for all'—by 2030.

SubQuestion No : 23
What is the tone of the passage?
< A. Condescending

< B. Derisive
" C. Analytical
2< D. Adulatory

Question ID : 630680177776
Status : Not Answered
Chosen Option : --




Comprehension:
Read the given passage and answer the questions that follow.

Despite high education among women, the rate of women'’s employment is very low in India.
According to data compiled by the World Bank, the number of working women in India
dropped from 24% to 18% between 2010 and 2020. Similarly, the India Discrimination Report
2022 released by Oxfam India states that women in India, despite possessing the same
educational qualifications and work experience as men, will be discriminated against due to
societal and employers’ prejudices. Likewise, though India tops the world in producing female
graduates in STEM, it ranks 19th in employing them. These numbers remain true across other
fields as well. The wide gap between the number of women graduating every year and those
entering the workspace is an issue of paramount importance that needs to be addressed.
This article aims to critically analyse this challenge while looking at a possible way forward.
India’s present gender gap in terms of literacy is more than twice the 2016 global average and
even higher than that for lower-middle-income countries. According to the National Sample
Survey Office (NSSO) data, in 2017-18, a total of 186 million women in India cannot even write
a simple sentence in any language. This statistic is a call for attention, showcasing that India
is far from achieving the fourth Sustainable Development Goal (SDG)—"'inclusive and equitable
quality education’ and ‘lifelong learning opportunities for all'—by 2030.

SubQuestion No : 24
Q.24 Which of the following can be inferred from this passage?
Ans X A.Women prefer to study through non-formal modes

«” B. Biases against women continue in the workplaces
2% C. Women are struggling to learn how to write

< D. More women are studying to be graduates

Question ID : 630680177774
Status : Not Answered
Chosen Option : --

Comprehension:
Read the given passage and answer the questions that follow.

Despite high education among women, the rate of women’s employment is very low in India.
According to data compiled by the World Bank, the number of working women in India
dropped from 24% to 18% between 2010 and 2020. Similarly, the India Discrimination Report
2022 released by Oxfam India states that women in India, despite possessing the same
educational qualifications and work experience as men, will be discriminated against due to
societal and employers’ prejudices. Likewise, though India tops the world in producing female
graduates in STEM, it ranks 19th in employing them. These numbers remain true across other
fields as well. The wide gap between the number of women graduating every year and those
entering the workspace is an issue of paramount importance that needs to be addressed.
This article aims to critically analyse this challenge while looking at a possible way forward.
India’s present gender gap in terms of literacy is more than twice the 2016 global average and
even higher than that for lower-middle-income countries. According to the National Sample
Survey Office (NSSO) data, in 2017-18, a total of 186 million women in India cannot even write
a simple sentence in any language. This statistic is a call for attention, showcasing that India
is far from achieving the fourth Sustainable Development Goal (SDG)—"'inclusive and equitable
quality education’ and ‘lifelong learning opportunities for all'—by 2030.

SubQuestion No : 25
Q.25 Which of the following phrases suggests action to be taken
Ans X A. Tops the world

25 B. Far from achieving
" C. Way forward

#5 D. Remain true across other fields

Question ID : 630680177775
Status : Not Answered
Chosen Option : --




Section : General Aptitude

Q.1 2021-22 #, sitepaHT 7 R fovar f&h Henfaea vun w5t 51 faerra srdfsra (PMJVK) gis= st
WEHER R _____ fomy smahr =ep, srufe fsfta anf 2021-22 & 2025-26 & R it v+ &
forg ergmifea forar mam &1

Ans X A 189
X B.17d
X c.16d
o D. 154

Question ID : 630680177779
Status : Answered
Chosen Option: C

Q.2 2023 # IHTE AIfHRR ga aht fFe qreerR @ wwfaa fmar mam?
Ans X A et sit

X B. IS QAR T8

#< C. U1 o

& D. U1 faquor

Question ID : 630680177790
Status : Answered
Chosen Option: D

Q.3 fA=fafla d & w91 A wRa & ga dfau= 7 98 or sk are 7 1976 7 423 witem
sifafaaw grRr siter mar ar?

Ans X A Tsa & Hifa e Rigia
«” B. Hiferes ader
< C. miforh ifderR
< D. YRd & fgern Fi e fAehr

Question ID : 630680177800
Status : Answered
Chosen Option : A

Q.4 fRurera & dey A fAafaf@a & @ o9 a1 su= ot agi @2
Ans X A. 3cht TS iR & 400 km & AR 3re0TIeT TRRT & 150 km b 81

< B. fgwTer, ffde w0 & Faifed SR WA ¥ 9 afeld UgTs, WRd &t Skt ranst o e
gom 2l

" C. 3 Uk 91U §H1d 8, ST 1T 3,400 km Y G T HTIIE el &1
2< D. 3 gdd siaaiT] Ry & sIgTq deh ufw-gd feem & Sheft &1

Question ID : 630680177795
Status : Answered
Chosen Option: D




Q.5 ¥Rd & WAy & fore srgede d Seara fovar man & fF wRa & vdes fa=fia adf, st 1 s & 31
AT deh T 8, & ey H TRRR Y Urererfora uiftarat ofiR el o1 freor Tae & awer uegd
AT HAUTh STaITehdT 82

Ans X A agee 110
X B.ag=a 111
o C. 33 112
2 D. 31T 114

Question ID : 630680177793
Status : Answered
Chosen Option : A

Q.6 Hg=h e FAHr FRiA ZRT SR ek RUlE & SgaR, AT faeTe gahics 71 0.633 & €1,
2021 H191 MAVURA____ RIM R 2|

Ans X A 1363
X B.1343
X C.138d
o D. 1323

Question ID : 630680177794
Status : Not Answered
Chosen Option : --

Q.7 WA v T 921 & T R a=1feR, Uithar i« uéiy et 20 REer, 2022
Caj # fa-TorRgeR Weres Wi (VinFuture Special Prize) ugr favam mari

Ans o A g8
75 B. e
75 C. g
X D. g ik

Question ID : 630680177777
Status : Not Answered
Chosen Option : --

Q.8 AT B 3R AR RERR 2022 fFa Icpe guiel/mal @i vem fhy mg?
Ans X A 43

o B.44
X C.42
X D.41

Question ID : 630680177782
Status : Answered
Chosen Option : D




Q.9 3fisI U&2M T I AT ST HalwH T It 31U T IeTe heell 87

Ans

o A IR
X B

X C. g
25 D. dsur

Question ID : 630680177796
Status : Answered
Chosen Option: C

Q.10 S & vy g9 aret Sfeher Giet a1 Iamafaes A o 82

Ans

XA 93T wiRgS

X B. HfRm Frefe

o C. TifSam gregier dmeide
7< D. &R 78 P

Question ID : 630680177798
Status : Answered
Chosen Option : D

Q.11 ¥Ra & rrof fAferas fE@wrdt derst sizarft & HenaremR d gHaa+ §ka HioR! &l 4-0 9

Ans

g T _____ fary f&eare ure R

X A.20at
o B.25at
X C.27at
X D. 293

Question ID : 630680177781
Status : Not Answered
Chosen Option : --

Q.12 yrafia st Tifla FAafafaa | @ fra asa @ Se6fda @2

Ans

X A FRA

X B. arigr vear
< C. s<iTe
o D. dfeah

Question ID : 630680177791
Status : Answered
Chosen Option: B




Q.13 1236 # Gear seqaraen H i WS, gear =it g & sfagear s R A e i
ag o1+ Foft vl Y g | oif s waw iR afa ff fhgua T S awes FFudA g @
ag gl A1 UTI 7 ¢ IS W IS Weld U A AT A & TaTH| @ U= AT ST Godr i

TEY & e g 4T AUT?
Ans o A 1240
2 B.1237
X C.1238
< D.1239

Question ID : 630680177785
Status : Answered
Chosen Option : A

Q.14 <1 2022 FY wia fagtarsit # @ g & w0 7 F=faf@a 7 9 w1 a1 sy a8 78 82
Ans o A 70 Y I T 3T o <frfamlt et Srgmifed COVID Eent 3 Try guta: Eenteheun g3 o, I

argHfa & s ot

< B. TR o STe hi A H Wy S@TeT i SATaaehdrst et & § 3@ gy, 3l 3Ra 3
Frefenfat &t et T ot 10 rE dek Hifad [, e amex @ o1y 8.5 aire affferd 2

X C. 90 &1 31af¥ 5 Seims & 12 Selrs, 2022 & ot ff, fohg dtefamal o= 24 531, 2022 &
IR gaT| fguefa &1 arsiia wR g&mear 20 3ifid, 2022 &t fag g

< D. 9= a9 & GRM, B HaTei el aaTial § Hefdrd et 5-6 ATg gd &t guf & forg i 8, fohg
g1 2022 & foly I8 SaaRAT S¢ HIE & 31T IuY & Aifey WR &6l 718 oft

Question ID : 630680177780
Status : Not Answered
Chosen Option : --

—_—

Q.15 unfier uR & & | I IH Al I i gad 9t IueAfey 1828 H oy ®imuEm o)
Ans X A urfHr gES

o B. 55 HISI

X C.igga

X D. o gHRST

Question ID : 630680177786
Status : Answered
Chosen Option: B

Q.16 @i ok Sl & siehia et ger Agayof arforSaes ds o= mam1 s o+t S+ e e d
Ed & 3R IFA 3k AfeR o FRmfor sFeaman agl ot ¢ R, 5 gl SITaT T,
T TUh Vrae AT

Ans o A CEelard
#< B. argaY Rk
5 C. TuRT s
X D. 31oTR ThdTd Radh

Question ID : 630680177784
Status : Answered
Chosen Option : A




Q.17 &k 511 & Hay # fA=faf@a & @ & a1 wu= g agi 82
Ans X A. ST R IR A2l o T 3UR 3 §, I8 0T &R gl ST &
2< B. Sk gRT STHT YIRehi oht &} ST TTelt TS chl &R o IR &3 gl SITdT g

#< C. ST #IE dR TR & UehR & Giell & — AT STAT, WITHRe &t 7T TR Sl GRT 33, JaTex0T - 9T,
S

o D. 3l <3 & T o1 SR, O 'aRetar gl SiraT 8, a8 o™ & St dont g1 fafaifSra foar Srar &1

Question ID : 630680177792

Status - Not Attempted and
" Marked For Review

Chosen Option : --

Q.18 Syiferma Mide=ma pat, St siifaen & @ & Fafa & 3 # Ifif3dt ag aeg-2ntusm
R N

Ans X A. 1883
X B.1863
7< C.1893
« D.1873

Question ID : 630680177787
Status : Answered
Chosen Option: D

Q.19 JfFar e gz gt Ra gu & =, fomtg gar & ffam & fFe aren # q1ifa @ swwemmr
QRERR 2021 weT= forar war?

Ans X A wfordfta e
«” B. gadl, argH S, HErR 8K Ug fasm
< C. sifomifadh fagm
25 D. Rifeca famm

Question ID : 630680177778
Status : Not Answered
Chosen Option : --

Q.20 3mafderar 3R uerd i srawarei & ey # A=fafEd syl d @ & a1 ey 98l 87

i. 3R IR 3R ueref a, Fifiier! 3 MAsron & wu & faem= &1
ii.. 7T A hael Qeh &1 YR & WRATY[ g1 &1
Ans X A. e faeed | @8l &

X B. hael fehed ii Gt &1
X C. ey i 8RR i, T4 Terd &1
o D. e i iR i, 21 wdh &1

Question ID : 630680177799
Status : Answered
Chosen Option : A




Q.21 wAfea wifta , i () f fafva fRersit A arffera fovar mar &1 39 Rrensi it Awal war
ST g, staend __ §

Ans X A 9GS
< B. gt
25 C. &
o D. TeR

Question ID : 630680177789
Status : Not Answered
Chosen Option : --

Q.22 Ay e Aifgierga wRa & fRra o | faefa gem?
Ans X A afferg

« B. v

25 C. srguRsr

< D. snifsem

Question ID : 630680177788
Status : Answered
Chosen Option : B

Q.23 A & "@eH # Arerdig fohe e A e 827
Ans X A.Td

« B. cf@unuidm

X C.ufgm

# D. zfaorgd

Question ID : 630680177797
Status : Answered
Chosen Option: D

Q.24 fAfafEa d @ fra R & @ @t ad 2022 # srsfia Soft & glomarf RErR e fFar
™T?

Ans X A. HigwTg St
o B.Jfga smf
25 C. =R e
2 D. forTe sigett

Question ID : 630680177783
Status : Answered
Chosen Option: B




Q.25 Which of the following is NOT a role of the Union Executive Branch of India?

Ans X A.The head of the branch (the President) serving as the commander in chief of the
armed forces

+" B. Appointing the Chief Minister of the state
5 C. Negotiating of treaties

25 D. Appointing of the members of the Supreme Court

Question ID : 630680177801
Status : Answered
Chosen Option: B

Section : General Intelligence

Q.1 af
A+BerT A gfr'A BRI ATE,
A-Bawradgfh'A B fan g,
A x Behr 3 g faF ‘A, B b1 uTS @' 3R
A=Bararf g fr'A BR Gh &
fAafaf@a adister & T A1 E & 91 o dde &2
TxR+S+U-E

Ans X A. 7citsT (417E T O)
X B. Wi
X C.fam
o D. I (U1 a1 318)

Question ID : 630680177813
Status : Answered
Chosen Option: D

Q.2 afX'x' a1 oref 'SitEAr, '+ T o1 'gerET, '+ okt 31ef U ST 3fR ' @t oref v AT @, At
fA=fafEda e &1 7= 3ra fifSgl
64+4+11x13+72-12

Ans o A 252
/& B.274

X C.12
X D.264

Question ID : 630680177826
Status : Answered
Chosen Option : A




Q.3 Qe gag aled & e, sif<ar = sroeit orar fi fn & g« == fFan1 300 m o[ & are, a8
I Y ok gt 31k 600 m 3R 3 Tt fiRR, T8 o1+t &1 ik gt 3fik 600 m Teht R g
310 &1¢ 3R gt 3R 200 m T | i &, ag uffyw i 3R gt 3R 300 m =k o1 Tg S
3Tt T § fore feam & @2

Ans o A.TTR
< B.ufgH
< C. afgmo
X D.gd

Question ID : 630680177812
Status : Answered
Chosen Option : A

Q.4 Ry 7y el d & I dwEan o1 ag= & Wt FAfaf@e siaen 3 usaras Rg (?7) Ft ufawnfa
&R Gehell &1
0,1,4,11,24,45,76,119,176,?

Ans X A 294
o B.249
X C.246
X D. 244

Question ID : 630680177823
Status : Not Answered
Chosen Option : --




Q.5 Ru aw Rewedt & & 39 3pla & T9S H A A & T gEer § wedas Rea (7) # gawwRa
FT THA B

J

Ans

&< C.

 D.

Question ID : 630680177820
Status : Answered
Chosen Option : A

Q.6 IR &R g iy 7y & = & o= foneht vk & wos 99T+ & SR ek S1ETd &1 IHehT I9T
ST ST g1
Ans o A GAXSO
< B.WRNIE
25 C.SNJEA

2< D. AVRMI

Question ID : 630680177817
Status : Answered
Chosen Option : A




Q.7 Ru v Aot & & 37 pla @ TGS F A AW & TE g@er F weAaT Few (7) 5 wheng

F THT B
E v cl| ls 8 " M 8 & s v E
R F el |n F P [ F R P i R ?
.
G 8 L E v c i3 v E M B G
Ans
M B G

AB|r F R

« C | r F p

<D |g P F

Question ID : 630680177821

Status : Answered

Chosen Option: C




Q8 zdur ¥ T X W T W, & T 3P T 90T oY F 7T Y

Ans

Question ID : 630680177822

Status : Answered

Chosen Option: C




Q.9 IR 3i&R - ug g™ Ry 7y &, e @ = feft v & g a9 & 9k Uah oriva g1 SHaht
TG R S A 21

Ans ¢ A OEIYZ:IYEOZ
2< B.IBUOS : I0UBS

?< C.HETYD : EDHTY
7< D. ANHRT : AHNRT

Question ID : 630680177818
Status : Answered
Chosen Option: D

Q.10 2r15% ‘'MICROWAVE' # foher=t 318 g7 (hae SiTt & ohil ) & STl 216 A ITch J1d 31ERI hl Hdm
3t guiarer d 3914 i srert Y et & a2

Ans o AT
X B.2
X C.0
X D3

Question ID : 630680177807
Status : Answered
Chosen Option : A

Q.11 @ A #eaR, 24 S=aY, 2023 @kt IUAT 3247 SFAE A-TATI Ut o fohd &= 39 eraem
16ai SHTGH HATAT UT?

Ans X A RaR
«” B. §UaR
X C. afHar
Z< D. @R

Question ID : 630680177810
Status : Answered
Chosen Option : A

Q.12 fF=fafes afieor @t dgfea o= & g e at Jw@rsi & smow § ager s anfag?
26+13-11x5+42+6=-99

Ans o A 26 3R 11
X B.113R6
X C.133R5
X D.63R5

Question ID : 630680177825
Status : Answered
Chosen Option : A




Q.13 38 7, A, B, C, D, E 3R F, Gk et A1 & uRer: 33 §1 & woft A1 & g A oz aifrga €1 A sik
B & <ftar dhaet D T 81 C, E & afache a1< 3l da1 8, Sit D & a1 iR g I R 331 81 A 3R
C & ot dhae F do7 81 B, E & Afache a1s 3R 95T &1 D & a1¢ 3R g8k I IR &l da1 8?

Ans X A.C
X B.B
& CF
X D.E

Question ID : 630680177802
Status : Answered
Chosen Option: C

Q.14 ¥R 31eR-uHg g fg 7q g, = & = foreft werr @ ger wwm € ok Ues e &1 39t Ta+
e ST ETE 2l

Ans X A HFDBZ: MKIGE
?< B.IGECA : NLJHF
< C.YWUSQ : DBZXV
«” D. PRTVX : UWYAC

Question ID : 630680177819
Status : Not Answered
Chosen Option : --

Q.15 If the first half of the given number string is written in the ascending order and then the
second half of the string is written in the descending order, which number will come 10Mto

the left of the 24" number from the left?
(Left) 95841265895254789257259874563587 (Right)

Ans X A6
XB.7
& C.8
X D.9

Question ID : 630680177809
Status : Answered
Chosen Option: C

Q.16 ©g zafh, srren, ar, 2ftae, g, AfaR ok arT e Hieh dfts & s i ok sifga glaw &3
&1 uig safoh fiaet & a1 ok &3 &1 arit ofik gerr & i o= =afes 33 1 AfgR, arit & St
a1é 3R a1 1 arT 3R 2fiaet & = Faw e de1 g1 Ffaf@a 7 @ 4 3 R w= da1/8
8?7

Ans X A fafgz
< B. 3T
< C. ofraa
" D.

Question ID : 630680177803
Status : Answered
Chosen Option: D




Q.17 Qe uRaR & =t 95w Uk 91U g4 &1 G, D R uisft &1 C Y gt gt sk g g @1 1, H & e
3T C & ar1e &1 B, G i AT 81 C, F & e &1 E, A 3iik F &Y arg=1 81 B o1 faamg F & dra g &1
A, HHY AT &1 C &1 G & T T Tl g2

Ans o A S

X B.gdY

< C.far

Z< D. =man (foar a1 wig)

Question ID : 630680177814
Status : Not Answered
Chosen Option : --

Q.18 Bg @k K, L, M, N, O 3R P geh aRarR & ¥&w &1 K aR =afhal @ ster g1 L, N & a1 8 fde
M @ BleT 21 0, K @ Bter 8, Sit N @ Bier 21 L &t aafhal @ ster @1 M e 21 718 81 fRafafaa

# 9§ 9a& a31 i 87
Ans o AP
X B.N
XcCL
X D.K

Question ID : 630680177805
Status : Answered
Chosen Option : A

Q.19 TR 31eR 9g 3y Mg & = & i foreft warR & g 9 € o Uer oriTTa @1 39t 99+ o
Sit ST 21

Ans X A ZGALS

< B. LRENT

< C. DHUPM

«" D.BETIYA

Question ID : 630680177816
Status : Not Answered
Chosen Option : --

Q.20 31&Rf & I HIIST o T 3 Sit &1 1% a1 o Rk A1 A shffies 9 9 @ S R gj@en

Y QRT R
__NML__ _MLKNNML_ _NMLKNN_ _

Ans X A KNKNKNMLN
#< B. KNKNNMLNK
" C. KNKNNKNML
< D. KNNNKKNML

Question ID : 630680177806
Status : Answered
Chosen Option: C




Q.21 Qeh e |1 H, 'MAHAL' @t 'MLHAA' & w4 # ey forar simar & ik 'PLACE' @l 'PLECA & &9

o e forar simar 81 39 wrwr & 'BLESS' ot fohd &0 # geag foran srgm?
Ans X A.SLEBS
#< B.SLESB
7< C.SSELB
«" D. SSLEB

Question ID : 630680177811
Status : Answered
Chosen Option: D

Q.22 g g faeheul & O, IHhT T e Wil 1 (Y 71g sierihra @ig & aw g1
A2K8U

Ans X AP1Z7I
X B.E306Z
«.C.1359C
X D.J8T2D

Question ID : 630680177815
Status : Not Answered
Chosen Option : --

Q.23 3I9 €T F uga™ & ol FA=faf@d sjaer & d@&6fda agi g1
1,5,10, 37,101, 226, 442, 785, 1297

Ans X A.37
o B.5
7 C.785
X D.226

Question ID : 630680177824
Status : Not Answered
Chosen Option : --

Q.24 afE et o a1 Uigai R AaR g, 9 Twarg 1 B 91 (7w @ ugst gun &7 ghm?
Ans X A far

«* B. haR
X C. Ovar

#5 D. ¥aR

Question ID : 630680177804
Status : Answered
Chosen Option : A




Q.25 &7 31eR sjRae o1 de o ofk = g g ust o IR )
(@) VFIURDCSECRDCFFHTGOABNBGUAP (gmW)
Y fhat @R & e i a1E d 3R 8k ugel Uah o= 22 (dhad 919 9 21¢ AR R R &#11)

Ans X A3
X B.2
o C.1
X D.0

Question ID : 630680177808
Status : Answered
Chosen Option: C

Section : Quantitative Aptitude

Q.1 A 3R B, foreft &ref ht shmar: 10 27 3R 15 271 & o Gepat &1 d Ueh Ty 3 R ek orf el &
auT for B &rf B13 34181 A, 3 el ol 31kt GRT et g1 et s fohet Rt & s ghm?

Ans X A6
« B.8
X cC5
X D.7

Question ID : 630680177845
Status : Answered
Chosen Option : B

Q.2 forelt e &, arftor efiz e Frenfat ot srgura 4 : 9 &1 freht wdter &, awfior ok st
ferenffat & ofiae ufaere sich shasr: 75% SR 68% &1 ahail o1 dquf siiwd ufard oih (gt
ZeTd I deh 9at) fhaar &2

Ans X A 6275
X B.72.25
o C.70.15
X D.67.25

Question ID : 630680177834
Status : Answered
Chosen Option : B




Q3 s 7 8 ﬁ;l_; # ¥ w72 3k ge o B ¥ 9 7 HeR fraer 37

9" 11" 15 1

Question ID : 630680177828
Status : Answered
Chosen Option: C

Q.4 40 dm (Decimetre) =it<t 3R 16 dm (Decimetre) gt Agx & &1, 15 km/h & a7 & wanfga gt
g1 &1 af &= & fAg 12 cm 3mmardl Sie (standing water) &t 3trasaerar gi<l &, @t ag 30 min

# faret &1 (m? ) Y Ri=ns woit?
Ans X A 2,40,000
 B. 4,580,000
2< C.3,20,000
& D. 4,00,000

Question ID : 630680177851
Status : Not Answered
Chosen Option : --

Q.5 < =< U= AT a1 T 25% ©R & fRIT UR @<l &hdT @ T W a4+ <1 E1-fagrs, v
3R uRags i @< @war g1 af ag ufa A1g 25,000 s=mdt €, @t SHeht A1 ¥ a9 (% &) 749
gl

Ans X A. 50,000
«” B.40,000
2< C. 45,000
2< D. 42,000

Question ID : 630680177837
Status : Answered
Chosen Option: B

Q.6 Tf 8 3iwhl aTell Uer W&=AT 1a9759b0, 108 & fawrsy &, Y (7a + 3b) T SifAehaw A9 w14
HifSgl
Ans o A GO
X B.60
X C.72

X D.81

Question ID : 630680177830
Status : Answered
Chosen Option: C




Q.7 wiE Y X, faudia feam # et <&t foreft g@t Tt Y &t 15 sec # uR @welt @1 et Y i
a1t 72 km/h & TUT IS Y R s, ot X R s bt 80% &1 afe I X, 16 m/sec &y
o1 @ Tt g, ot ImE X fi wars (m ) 7a Al

Ans X A 280
% B.350
« C.300
7 D. 240

Question ID : 630680177843
Status : Not Answered
Chosen Option : --

Q.8 33 il w1y, forelt e Rt aretTT- oreTT shean: 12 R iR 20 R A e aadt €1 af 3 Afcie
=l & oref e €, v 3f uget Rt == e 8, &t @ dyuf @t o foha R | g R

Ans o A 148
X B.15.4
< C.152
< D.143

Question ID : 630680177846
Status : Answered
Chosen Option : A

Q9 fr=fafRe o = it &F aw F7 anTTs FF ArAfatle ¥oF 7 eav dferT| fagariEat
# Fo AT = 7500
5 fafdres fagamemt & faeafidt & e = 1

Number of Girls in each school

1000

0
€0
w0
I =
A ] < [} E
Schools

number of girls in each school = ¥ei% faemerm & w=fFar $ir T

number of girls = wEfFTT FHr FE, schools = R

School A 18% = faeamerm A 18%, School B 25% = fagame@r B 25%

School C 30% = Rez@m@a C 30%, School D 12% = Re@merm D 12%

School E 15% = faeamea E 15%

e D ik E & asfrar #r e, Regew A 3 B & w5 & 5@ & fraar i §2
(FrgATTere wfrera @ T i)

Ans X A 52%
X B.48%
X C.54%

Numberof Girls
5§ 8 8 §

g

o D.60%

Question ID : 630680177849
Status : Answered
Chosen Option: B




Q.10 foreft SSiifRafiar faremeff ot S<hiof @17 & fArw 45% 3ick uTed A &1 ag 157 3iek Ut &hedr & 3R
23 3iwhl @ 3r=itof gt s &1 guifer ra ffSigl

Ans X A 420
& B. 400
X C. 450
X D. 350

Question ID : 630680177835
Status : Answered
Chosen Option : B

Q.11 = aImgah, A, B 3R C, Teh |1 3R THF I § 3R G 32 # geh JRTehR U R &S I
et &1 A, Teh T 56 sec #, B, 48 sec # 31k C, 70 sec # GxT el &1 fhast ava g 3 fi &
ReaTeh foig ur fAei?

Ans X A.20min
5 B.32min
«" C. 28 min
25 D. 36 min

Question ID : 630680177829
Status : Answered
Chosen Option : A

Q.12 ursy A, fareht &t el 12 hrs & R 9erd &1 utsy B, I} &t it 16 hrs & ¥R ahar &1 71U C,
& g8 & Rt 24 hrs & FTeft & TehaT 1 IS A, B 3R C # @ ueldeh ol GariaR v A 1 hrs &
forg @terr sirar @1 afe B &t uget @il SIrdT @, At @iedl dehl ahl WA B I feha A € a1 IHa
hm?

Ans X A .29
« B.28
% C.30
X D.27

Question ID : 630680177847
Status : Answered
Chosen Option: B




Q.13 FiE gHMER, S TEGU FaAT &1 Ugelt I 1 fAsha Jea, gt o] & 7a o & SRER g1 98
g I ol 25% h A1 R AT @ TR g a¥g t 12% i g1 uR e @1 e e an g1l
ufara feramr 82

Ans 4

XA Elﬁ',‘l-a

3

X8 z‘:ﬂ?r'r,3a

¥ C am44
o

3
X D. FlTﬂT,Ea

Question ID : 630680177838
Status : Not Answered
Chosen Option : --

Q.14 8 AT §H T&HT3H a1 ST TTd FifSrg, afe 398 @ ga@ =1 g k gr [fde &Y s &1
Ans X A 7k

S B.k+8
o C. k+7
X D. 8k

Question ID : 630680177831
Status : Answered
Chosen Option: B

Q.15 AR w7 A, foheft wiezale & =1er 16 km/h &1 33 arRT i fAudia fEam & 36 km R &, arT Y
Ream & T A R e i g F 72 min $4ifd wg wwTEn g1 4Ry i =t (km/h ) 7

Hifsgl
Ans X A.8
< B.10
& C.4
X D.5

Question ID : 630680177844
Status : Not Answered
Chosen Option : --

Q.16 foreht et & 42 faenffal @1 sftea a1 35.5 kg &1 afe forelt fAerer @1 awi= oft enfae &= form
SITg, &Y sited gt | 750 g &Y gfg gt &1 fAerer o1 asr (kg &) framm &2

Ans X A 60.50
& B.67.75
% C.72.75
< D.64.25

Question ID : 630680177832
Status : Answered
Chosen Option: C




Q.17 Grafafem afes el fegew ¥ ui e garr ow ffees et & a3 @R 53+

o & qofs =7 geEr &

fowar / Taeredt A |B |c |D |E

& (100) 96 |56 (45 |91 |75
37rEi(150) 126|114|90 |85 |76
T (200) 180|108 |100| 110|150
=T (150) 145|56 |70 | 140|120
AT ¥ea (100)| 90 |60 |48 |80 |80

el Taeanfiat aamr wfvra 3in 8 & wafea &9 @ yra sitea 3 faw 2
Ans X A 2055

o B.202.2

X C.196.6

2 D.192.4

Question ID : 630680177848
Status : Answered
Chosen Option: B

Q.18 af foreht e afY W asrgfy s, 12% arftfer aerqfey sare e & 2 af & forg 23,688.8 &, &t
A (2 H) 711a HifSigi

Ans X A 15000
7< B. 14,000
< C. 13,500
& D. 14,500

Question ID : 630680177842
Status : Answered
Chosen Option: D

Q.19 et are= & S=reizean 9,000 <ft 1 af &, gow S # 10% Fi gf; g8 oz afgen sder §
8% &t gf g%, AR et STz # 9% <t gfS; g$ 1 Wew W 9 g8 wigen sea 7 HifSig|
Ans X A 4950

X B. 4,750
& C. 4,860
2< D. 4,500

Question ID : 630680177836
Status : Answered
Chosen Option: B




Q.20 mﬁmsﬁmﬁa’rﬁa"ra:ri 3ﬁ1’% ST IEA W ST g ¥ Afy B ¥ 9w et @ 7w & W fraw
Srar & Tur oo Al # v duer & fEema S &1 d9e 7 e f o A (units) s
e mfge, @iff afomd Rems # s A = 1 e 10 1 g Ao

Ans X A 32
X B.30
X C.35
 D. 38

Question ID : 630680177841
Status : Answered
Chosen Option: B

Q.21 240 km & fareft amn &, Qe a9 75 km/h &6 aret & 150 km Y g8 a4 et &, 100 km/h Fi
It & 3TeAt 60 km hr g 3R 75 km/h Fi a1t & v g g =t &1 Sgef amn F a9 i s
=1t (km/h ®) F1a fifSiai

Ans X A.75

X B.70

X C.78

& D. 80

Question ID : 630680177833
Status : Answered
Chosen Option: D

Q.22 Y 3= urcher, fhft spfetst & oreE Y=g TRl & ¢ e 39 3@ &) Tgs 89 & 812 diaw
3R G & 92 e @S Tehal &1 3, FeT T102 F 9 & 4 SR sifaT iR Qe & 5 a2 ST Sr=ar
&1 uTeheT, el 2182 ® A & 7 B¢ afey 3R 9 & 9 92 diad daar &1 8 & &t B¢ dfe fir

Ha 7 fifog?

Ans X A .28

X B.14

& C.16

X D.12

Question ID : 630680177850
Status : Answered
Chosen Option: C

Q.23

32+ 5202 — (22 + 20f2)

3 g

= T AT AT HITAT
(2.06 =~ 0.76) ofg =03

Ans A0
<B 0.2
xe 2

3

XD 2.06

Question ID : 630680177827
Status : Answered
Chosen Option : A




Q.24 S AUy, 31,050 J THE Thear @ ok I 29 38 21,228.5 9 10 78 & shffe waw Ear
2, 29 TR I 4% T 119 YT ST 1 arfifer saret &= fhraeh 82

Ans X A 18%
X B.20%
o C.15%
X D.12%

Question ID : 630680177839
Status : Not Answered
Chosen Option : --

Q.25 & o= (cousins) &Y aTHTH TY T SUTA 3 : 4 &1 4 Y FATE, I Y T 31U 10 : 13 &
S| 6 o a1, 1 hiS-H 6l 1Y T SiguTa A1 FfAQI

Ans X A 9:7
o« B.7:9
X C.11:14
X D.11:15

Question ID : 630680177840
Status : Answered
Chosen Option : B






